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Honors Algebra Il Trigonometry Test -- Show All of Your Work for Credit!!
Box All Answers!!
Calculators are prohibited on this portion of the test

Find a positive & negarive co-terminal angle for each given angle.

1) ¥ (Zpts) 2) (2pts)

s ore

1 4

)

PR Ry Sy L S s T R LT LT

s o
T A é 800’5: 190
) x T e—% 7 5 SN

—S'in<;20°
' ' % T
. O & 7 1O 23T
530 =10 s 2

For each given angle, convert the radian measure to degrees and the degree measure to radians. (2pts each)
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Use the given point on the terminal side of angle 0 1o find the value of all six trig functions. (6pts)
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Find the exact value of each trigonometric function. (2pts each)
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Graph each function using radians. State the period, amplitude, phase shift, vertical shift, domain, and
the range. In the table, state the poinis of the maximums, the intercepts and the minimums. (9pts each)
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/ You may use 4 calculator op 4 portion of the test
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| Solve each triangle. Assume 4o triangle

s NOT a right triangle.
Round your answers 1o the nearest ienih,

(Spts each)
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